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Warm-up: Yikes!!

Suppose a=2b+ 35b=4c+ 5,

c=6d+7,and d =8. Wha‘[is
Nhevah o7

C= 6 (D))
al + b-
_ =4(s5)+5
C= 55 22045
b= a»

&= q(235)+ 3
__Y4950+73

(0\ = "fSﬂ
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6 2 Solve Linear Systems
*®™ by Substitution

You solved systems of linear equations by graphing. f “
@78  You will solve systems of linear equations by substitution. ™ P2 R

So you can find tubing costs, as in Ex. 32.

GOAL: Solve systems of linear equations exactly and
approximately.
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Example 1!

Solve by using substitution:
XT3y 42
2x-4y =12 ()( 3
/S\\ \\{
a<%b+§—qY=|) W% \
(plj+fo""—f\/—;[; —

antip=|2 Y=3Vy+5
j#& 70 !

Y= X=301)%5
TP
I

4
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Example 2!

Solve by using substitution:

4?‘}7 §= 19

‘—\x~/(<><\—\0$\°l

Hx=-x+ [ =19
Ox+ (=19
-\ — |
= 1p
3 P )
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Example 3-tougher!

Solve by using substitution:

20330y =-50
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Example 4-same 1dea!

Solve by using substitution:

S5x +4y =32
Ox -y =33
'SX\—L{E’B; y
X —ﬁx
SRIE O = 33-9x

SX —132¥ 35, =33

\'\-—\_.

Tl -1y =2y

T\ v
L"I\( |6'-|-
D

B 9

K3y M




Section 6-2.notebook April 03, 2018

Last One: Word Problem!
C A

The ownerS of a carnivdl have found that twice as

many children as adults come to the carnival. Solve a

system to estimate the number of children and the

number of adults at the carnival when 3,570 people
attend.

[Cl+A=3570
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Homework 6.2:
p.381:4,5,6,10,16,28
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